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1. [ET
(1) +T
EELT v 1. 000
PRI L (HERE RHBR ) Bt m3 44. 000
PRI Y HE m3 127. 000
BT HE m3 10. 000
HRT HE m3 36. 000
BB (I #&12) HE i 11. 000
B AT = 1. 000
PR M8 1+, 1.=8. 5km m3 120. 000
LA ¢ il m3 120. 000
(2) AT
KET (2> 27 U—1HK1) = 1. 000
a7 U — MK BB18-8-40 W/C=60% m3 18. 500
e ’1% W, AT - A i o 51800
KET (227 U—12) = 1. 000
sy T 1;17311%;—40 W/C=60% 3 90. 800
e ’1% W, AT - A i o 45. 300
fithzs — R, NV S m 5. 800
SR A FIEEAT (150~200mm) m 14. 800
LR m 14. 800
Xrv bhbUFr—7 m 8. 200
s L—F FHEZET-14 995X 1500 X 130 L 4. 000
KET(27 U —1R3) = 1. 000
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R 2 =k WHHMER =B ETE THEEERIE
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Sy T 1;17311%;—40 W/C=60% A 3 15. 200
e ’1% W, AT - S A i o 36. 900
fithzs — R, NV S m 1. 800
SR A FIEEAT (150~200mm) m 8. 800
LR m 10. 000
XyrvbhbUtr—7 m 8. 700
WE R e =% HAREVU 265 K4.0m VN 2. 000
=N V- VER E Gr-C-2B m 8. 500
RN L 13mmEL T ton 0.015
(3) HEEmME T
HEYI Y 2 b LT = 1. 000
HEYI Y 2 LT 2y J—F m3 2.700
2L — b3S TR m 12. 400
PR a7 Y — R, L=16. Tkm m3 2.700
PRI A 1. 000
VU ¢ EfFa 7 ) — m3 2. 700
LA ¢ o A m3 1.000
(4) iz T
THAER LT = 1. 000
BT (227 U— bMfiak JE & 10cm nf 270. 000
TR iR L ¢ 6.0X 150X 150 nt 235. 000
fithzs — T, By Lavy) -} m 11. 000
H Rk VS WM B A t=10mm nf 3. 500
A% T nf 240. 000
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